MEMBERSHIP QUICK GUIDE

A quick glance at our pickleball memberships.



Membership Summary:

Membership Types For Pickleball.

- VIP
- Individual
- Family
- Junior (Under 18)
- Senior (65+)

Guest Fees:

• \$15 per guest visit:

Membership Benefits:

- Reserve courts 7 days in advance (based on availability)
- Enjoy exclusive member rates for all club programs
- Get priority access to clinics, drills, match play, and social events
- Receive special discounts on pro shop purchases and services
- Free guest passes available each month

Non-Member Policy:

- Guests are always welcome to join Club 45 activities!
 However, non-members must pay the daily guest fee unless accompanied by a member using a guest pass.
- Non-members may reserve courts 72 hours in advance.

Small Print:

Court Rates:

- \$24 per court, per hour \$6 per person for doubles or \$12 for singles.
- Non-Members: Must pay both the guest fee and their share of the court rate for each visit.

Complimentary Court Time:

- Racquet Sports and VIP Members receive complimentary court time for pickleball.
- VIP Pickleball Members enjoy unlimited open play sessions at no additional cost.
- Complimentary time cannot be used for clinics, leagues, or round robins.

Usage Rules:

- Only individuals listed on a membership may book complimentary court time. Non-members must still pay a guest fee when playing on complimentary court time.
- Complimentary play is limited to the daily allowance; additional time will be charged at the standard hourly rate.

Membership Terms:

• All monthly memberships require 30 days' written notice to cancel.

Court Reservations:

- To book complimentary court time, contact the front desk directly.
- Paid court time can be reserved through the Club Automation member portal.





Adult Individual Pickleball Membership:

Membership Benefits:

- Enjoy a 10% discount in the pro shop
- You receive one free guest pass per month

Price:

- Yearly membership (paid in full): \$1000.00 (includes two months)
- Monthly payment (without a 12-month agreement): \$100.00 per month, (\$1200.00 total)

.





Adult Couple Pickleball Membership:

Membership Benefits:

- Enjoy a 10% discount in the pro shop
- You receive two free guest passes per month

Price:

- Yearly Membership (paid in full): \$1500.00 (includes two months free)
- Monthly Membership (no 12-month agreement): \$150.00 per month, (\$1800.00 total)

Small Print:

Couples must reside at the same address





Senior Pickleball Membership: (65+)

Membership Benefits:

- Enjoy a 10% discount in the pro shop
- You receive one free guest pass per month

Price:

- Yearly membership (paid in full): \$750.00 (includes two months)
- Monthly payment (without a 12-month agreement): \$75.00 per month, (\$900.00 total)

.





Junior Pickleball Membership: (Ages 6-18)

Membership Benefits:

- Enjoy a 10% discount in the pro shop.
- You receive one free guest pass per month.

Price:

- Yearly Membership (Paid in Full): \$750.00 (includes 2 months free)
- Monthly Payment (No 12-Month Agreement): \$75/month (\$900.00 total)





Family Pickleball Membership:

Membership Benefits:

- Up to 2 adults and 3 children (additional children are \$25/month)
- Enjoy a 10% discount in the pro shop.
- Receive two free guest passes per month.

Price:

- Yearly Membership (paid in full): \$2000.00 (includes 2 months free)
- Monthly Membership (no 12-month agreement): \$200/month (\$2400.00 total)





VIP Pickleball Membership:

Membership Benefits:

- Unlimited court time and open play.
- 10% discount on food and beverages.
- 10 % discount on merchandise at the pro shop.
- 25% discount on all pickleball clinics.
- Complimentary social events for a full year.
- Receive two complimentary guest passes each month.

Price:

- Yearly Membership (paid in full): \$3500.00 or two payments of \$1750.00 (includes 2 months free)
- Monthly Membership: \$350.00/month

Small Print:

- VIP Members can book up to two hours of complimentary court time daily.
- If you want to play for over two hours, the standard court rate applies, starting with the third hour.
- VIP Members can also join other members' court reservations at no charge, even after using their own two hours.